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START | <43 Player A maex | Hdcp Player B mdex | Hdcp Player C maex | Hdcp Player D maex | Hdcp
1l | 700|657 | & A & — a5 9 B/ R = 75 i3 # X X 7.9 i3 m s = 100 16
2 | 707|704 | FH #t = & 3.7 8 ® & £ 52 10 8B = s 6.3 11 E A EE | 100 16
3 |724 | 7z11 | A &R & | es 7 #E R B | e 11 B R B @ | s 13 EB BE | o 15
4 | 721|718 | tE R KEZ | e 10 woAK E m | s 10 = B | oo 15

5 |728 | 725 | A iI = o.s <L = A BB s 11 W B OB X 8.1 13 X B B = 100 i6
6 |735 | 732 | &M BEZ | so 9 x B ¥ — | 2 12 E N &£ B | e i3 W B @ | e 15
7 | 742|739 KB B E | 2 7 BB & | s 9 ABRHIBIE | s 12 & =% E | 100 16
BEFBISR TL—RF1IL ILITL— d—X EUBH=FDE {#EA>RT(H)

START | 4> Player A maex | Hdcp Player B mdex | Hdcp Player C maex | Hdcp Player D maex | Hdcp
1 |700 |657| A B BR | u- 13 WoE B | 1. 15 wmA — A | i6 B R Z | e 17
2 | 707 | 704 | X B =|W ® 12 i3 & K E KX BB 12.5 14 E R W X 135 i6 t H = 23.8 28
3 | 7:14 | 7:11 E] i 105 i2 # £ =2 12.0 i4 i1} B = 122 i4 g R = 143 17
Z F TL—RF1IL ILITL— d—X FHE=8 I8 A1 FT(V)

START | <43 Player A maex | Hdcp Player B mdex | Hdcp Player C maex | Hdcp Player D maex | Hdcp
1 | 700|657 | Wil T & 0.0 i5 K W H | 1 17 = ®E3 & 164 22

2 | 707 | 704 | B HERF 0.1 i4 g =2 =5 12.2 17 B X T B 175 23

3 |74 | 711 | @B FRK 1 i6 - N T - 15.3 21 e &oOs= 16.6 22
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